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1 W B O @] 1,258,346} 11.7| 1,267,631} 12.7| A 9,285 A 0.7
2! W7 7 581 O 73,7681 0.7| 72,0320 0.7 1,736| 2.4
3¢ FIlF-HIZe 4 O 3,117. 0.0 2,414! 0.0 703|  29.1
45 B EIZ A4 O 7,339 0.1 57420 0.1 1,597| 27.8
B! BRSBTS B4 | O 7,545! 0.1 3,739: 0.0 3,806 101.8
6! T THFIMBLLME | O 2,073; 0.0 2,106: 0.0 A 33 A 1.6
7i TR 4 O 278,513: 2.6| 260,661 2.6 17,852| 6.8
8! 1) LGB A 4 O 20,799i 0.2| 13,535 0.1 7,264|  53.7
9F M7 B A 4 O 5,289: 0.0 4,342; 0.1 947| 21.8
10} Hb 522 B0 O 5,005,000¢ 46.5| 5,131,000 51.5|A 126,000| A 2.5
11} Z5m22 As SRR 4 | O 1,063 0.0 1,206: 0.0] A 143| A 11.9
12} 43484 OV 4R 4 ® | 154465 1.4| 51,960i 0.5| 102,505 197.3
13} B AR B OV S0k} ® | 106,344 1.0 111,578} 1.1| A 5234 A 4.7
14} [EFE S 4 902,962 8.4| 931,976 9.4| A 29,014| A 3.1
15! LK 4 923,269 8.6| 906,922 9.1| 16,347 1.8
16! BAFEIA ° 34,3871 0.3|  34,544] 04| A 157| A 0.5
17} %4 ° 151 0.0 1511 0.0 of 0.0
18] 4 A4 ® | 306,303 2.8 160,002i 1.6| 146,301 91.4
19! g ° 70,000 0.6|  70,000i 0.7 of 0.0
20} LA ° 96,167 0.9  89,459: 0.9 6,708 7.5
21i Wy % 1,514,100 14.1| 852,000. 8.5| 662,100 77.7
m A B a 10,771,000:100.0| 9,973,000i100.0| 798,000| 8.0
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i B E 98,789 0.9 100,157 1.0 A 1,368 A l.4
2! KBS H 1,465,908  13.6| 1,315,329{ 13.2 150,579 11.4
3 RAHE 4,051,935  37.6| 3,396,211i  34.1 655,724 19.3
4 A 593,985 5.5 578,657 5.8 15,328 2.6
5! MK PESREY 1,363,802)  12.7| 1,390,441 13.9] A 26,639 A 1.9
6 7 L2 76,343 0.7 71,940 0.7 4,403 6.1
7 K 658,155 6.1 655,764 6.6 2,391 0.4
8: {HPI# 344,971 3.2 348,431 3.5| A 3,460 A 1.0
9! HEHE L 800,859 7.4 805,183 8.1 A 4,324 A0.5
10 SKFEEIHE 3 0.0 3 0.0 0 0.0
11 NE# 1,266,691  11.8| 1,261,300i 12.6 5,391 0.4
12; Tlw% 49,559 0.5 49,584 0.5 A 25 AO0.1
A e 10,771,000: 100.0| 9,973,000i 100.0 798,000 8.0
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R o 1,710,616; 15.9| 1,744,876] 17.5] A 34,260 A 2.0
2! WA s | 1,986,995! 18.4| 1,884,772 18.9 102,223 5.4
3! HERFIE R % | 50,4151 0.5| 51,0141 0.5 A 599 A 1.2
4} Bt e 1,307,011; 12.1] 1,383,515 13.9] A 76,504| A 5.5
5 BT % | 1,070,971 9.9] 1,089,278: 10.9] A 18,307| A 1.7
N o 1,266,691; 11.8| 1,261,300} 12.6 5,391 0.4
7R o 690. 0.0| 1,260 0.0 A 570 A 45.2
g (KOS s 7,251 0.1| 6,700 0.1 551 8.2
9! ki % | 1,576,6181 14.6| 1,602,603! 16.1] A 25,985 A 1.6
10} 3R ° 1,744,180} 16.2| 898,095 9.0 846,085|  94.2
11} SSEM IR T ° 3 0.0 31 0.0 0 0.0
12 % | 49,5591 0.5| 49,584 0.5 A 250 A 0.1
A A 10,771,000:100.0| 9,973,000:100.0 798,000 8.0
SRR (O) 4,284,318 39.8| 4,389,691 44.0| A 105,373 A 2.4
RS IEE (@) 1,744,183} 16.2| 898,098 9.0 846,085|  94.2
Z O DFE (%) 4,742,499} 44.0| 4,685,211} 47.0 57,288 1.2
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